day 30

Your response: L]

Determine the intervals where the graph of the given function is concave
down.

Flx)=8x3 £ 10517

‘ Concave up: x >

and x < ncave down:
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Save Comment \1%: " b()v.,..\_ (\l} )7(1\‘.)
calc 2: zero

left: 1/100 1stox

right; 2 x-y3/nederiv(y3,x,X)
guess: 2

Your response °

h A

Determine the intervals where the graph of the given function is concave up and concave
down. &
Flx) =8x%3 £ 10,17

C

and x <

oncave up: x > X
FGEI= B
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Sec. Ex. 31- 3.7 Section Exercise 31 _ _:_ 4 'Q(‘ AN = +T

. — v = ol \ SN
Your response: @ q =2 (’+‘
o d C

A Norman window has the outline of a semicircle on top of

a rectangle, as shown in the figure. Suppose thereis 6 + n

feet of wood trim available. Discuss why a window designer e L |
might want tn‘ maximize the area ’)f the window. Find the
dimensions of the rectangle (and, hence, the semicircle) )(
that will maximize the area of the window. Round all values

in vour answer to two decimal places if needed.
v—

‘ The dimensi feet = feet

\’ (‘v‘“" —%—ny (&Q-&“X /& -/\._@(zf) -r'"'V(
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11 . Award: 0 out of 10.00 points 0 Adjust points Adjust credit for all students. BELEGAUCHE Y

Sec. Ex. 9 - 41 Section Exercise 9

Your response’ ] R \ \
Find the general antiderivative. Use {,' as the constant of integration. BO x ><
30x 173 _ O
_" x”G 3 X 5 \ \ g/
)& 3 X3
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Sec. Ex. 25 - 41 Section Exercise 25 L ak
FUN/ANN
v

Your response: %]

Find the general antiderivative. =\
A o\
j 2¢* M— Z _t ﬂ &/\
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Sec. Ex. 35 - 4.5 Section Exercise 35

Your response: o

Find the position functions (z) given the acceleration function and an initial value.
a(r)=12—r,v§[])=4,s([])=[] _(-IC{>_ V-l
RPLE =\ !

(1)= 6t~ +4t/ f((*;))_ 2~ "ttt ~ C
&Y= 6" — Yt + 4T C
XH=0 5
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